Intertek ECC ID: VBA-2600UL RF
|C: 7098A-2600UL RF

Test Data
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Intertek ECC ID: VBA-2600UL RF
|C: 7098A-2600UL RF

1. Fundamental & Spurious Emission & Restrict band radiated emission
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Intertek ECC ID: VBA-2600UL RF
|C: 7098A-2600UL RF
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Intertek

Vertical, PK

FCC ID: VBA-2600UL RF
IC: 7098A-2600UL RF
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Intertek ECC ID: VBA-2600UL RF
|C: 7098A-2600UL RF
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Intertek FCC ID: VBA-2600UL RF
|C: 7098A-2600UL RF

2. Deactivatingtime

Delta 1 [T1] RBW 100 kHz RF Att 0 dB
@Ref Lvl -1.02 dB VBW 300 kHz
92 dBNV 220. 040080 s SWI 500 ns Uni t dByV
92
VI T TI] 4254 GBYY oy
115. 430862 s
80 Al[[T1] -1.02 dB

220. 040080 ns
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50

Center 433.92 WVHz 50 ns/

Dat e: 5. FEB. 2010 21: 06: 47
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Intertek ECC ID: VBA-2600UL RF
|C: 7098A-2600UL RF

3. Emission Bandwidth

Delta 2 [T1] RBW 10 kHz RF Att 0 dB
% Ref Luvl -0.07 dB VBW 30 kHz
92 dByV 61. 12224449 kHz SWIr 15 ns Uni t dByV
92
AR 53.67 dBIV
433. 88292585 MHz
80 A2([T1] -Q.07 dB
1 1. 12224449 kHz
/' Vai|[T1] 73.|77 dBy\

70 / \ 2433, 91549098 Mz
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J |\
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Center 433.915491 MHz 50 kHz/ Span 500 kHz

Dat e: 5. FEB. 2010 20:54: 21

Page 7 of 12



Intertek

4. Occupied Bandwidth

FCC ID: VBA-2600UL RF
IC: 7098A-2600UL RF

Mar ker 1 [T1] RBW 10 kHz RF Att 0 dB
Ref Luvl 73.77 dBNV VBW 30 kHz
92 dByV 433. 91549098 Mt SWIr 15 ns Uni t dByYV
92
Y1|[T1] 73. 77 dByV
433. 91549098 MHz
80 EPH 8316633267 Ktz
3 VTl [ T1] 47.]20 dBNV
/ 433. 86689378 M
70
VT2 [ T1] 50.|33 dByV
433. 95006011 M+
60
50 ——
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40 W\,-"‘"’ny \\_\”\
W -\’\,\‘W\,—\
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Center 433.915491 Mz 50 kHz/ Span 500 kHz
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Intertek

5. Duty Cycle

Pulse Train of “On” key

FCC ID: VBA-2600UL RF
IC: 7098A-2600UL RF

Delta 1 [T1] RBW 100 kHz RE Att 0 dB
Ref Lvl 0.00 dB VBW 300 kHz
92 dByV 53.317836 ns SWI 100 ns Uni t dByV
92
VI [[T1] 72./19 dBYV
10. 610020 ns
80 All[T1] Q.00 dB
53.317]836 ns
L 1
70 - - - - M - A ‘ - - M M - M - ~
60
1VI EW
50
40
30
20

-8

Dat e:

Center 433.92 MHz

5. FEB. 2010

20: 58: 43

10 ns/
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Intertek

Pulse Train of “Off” key

FCC ID: VBA-2600UL RF
IC: 7098A-2600UL RF

Delta 1 [T1] RBW 100 kHz RF Att 0 dB
Ref Lvli 1.12 dB VBW 300 kHz
92 dByV 58. 316633 ns SWIr 100 ns Uni t dByVv
92
YT T1] 70.]00 dBYV A |
AN
7.414830 ns
80 ALl|[T1] 1.12 dB
58. 316633 ns
1 1
70 \ MB Mn e Mo Muty M Me M Nl mw me Mle M M e Mo M
60 | N1
1VI EW 1AP
50 H-l
PO
40
30
20
-8
Center 433.92 M1z 10 ns/
Dat e: 5. FEB. 2010 21:12: 36
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Intertek

FCC ID: VBA-2600UL RF

IC: 7098A-2600UL RF

Delta 1 [T1] RBW 100 kHz RF Att 0 dB
Ref Lvl -11.01 dB VBW 300 kHz
92 dByV 1. 353908 s SWIr 10 ns Uni t dByV
92
VI T1] 55.[78 dBYV
. 217234 ns
80 Al[[T1] -11. 01 dB
. 353908 ns
70 [
60 .
1VI EW 1
A 4
50
il
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10 T | |
0
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Center 433.92 M1z 1 ns/
Dat e: 5. FEB. 2010 21: 00: 32
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Intertek

FCC ID: VBA-2600UL RF
IC: 7098A-2600UL RF

Delta 2 [T1] RBW 100 kHz RF Att 0 dB
Ref Lvli -4.23 dB VBW 300 kHz
92 dByV 440. 881764 Ns SWI 10 ns Uni t dByV
92
V21T T1] 52./60 dBY\
6. 052104 ns
80 A2|[T1] -4.23 dB
440. 881764 Ns
70 [
60 -
1VI EV
v
50 2
A
40
30
20
10 |, ! | ) Ml

Dat e:

Center 433.92 M1z

5. FEB. 2010 21:01:13

The Duty cycle of “on” key = (11 * 1.35 + 11 * 0.4A53.32 = 0.37
The Duty cycle of “on” key = (11 * 1.35 + 14 * 0.4458.32 = 0.36

Asaresult, theduty cycle of 0.37 istaken into calculation.
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